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1] 3448 | 7] 9] 8{101 0] O 0 23|DASR 0 0 0 0
2| 3449 [10] 9| 9(10/10| 10|admis | 9,725 60] - 9,75 0 0 0
3| 3451 Ol O] O O] O] O 0 0[MTAAPA, STSR, AREIM, EI 0 0 0 0
4] 3452 (10| 9] 9(10]|10] 10|admis | 9,725 60] - 9,41 0 0 0
5( 3453 |10[{10({10]10[10| 10|admis 10( 60] - 9,82 10{iunie 0
6| 3455 [10]10[{10{10]/10| 10|admis 10( 60] - 9,95 0 0 0
7| 2809 | 7| 9| 9]10[10]| 10|admis 9,2| 60|{MTAAPA, MP 0 0 0 0
8| 3456 [10] 8| 8[10|10f O 0 30| - 0 0 0 0
9| 3457 8| 8| 8| 7| 9| 10|admis 8,55| 60|MTAAPA, STSR, MP-8, SCR, El 0 0 0 0
10| 3458 | 7| 7| 7| 7] O] O 0 23|SCR 0 0 0 0
11| 3681 7110]10110[10] 10|admis | 9,475| 60|Practica1-10, SCR-7, EI-8, Practica2-10 8,49 8,5(iunie 0
12| 3459 | 9| 9] 9(10|10] O 0 30| - 0 0 0 0
13| 3461 71 9] 9/10[10] 10|admis 9,2] 60|STSR-7, Practica1-10, MP-8, Practica2-10 8,27 7 liunie 0
14| 3462 | 8]|10/10(10{10] 10|admis 9,65| 60|Practica2-10 9,27 9,25]iunie 0
15| 3463 | 7| 8| 8[10/10| 10|admis | 8,925 60] - 9,07 0 0 0




